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NEW QUESTION 1
- (Exam Topic 1)
Click the Exhibit button

What is the next-hop interface for traffic destined to 172.19.52.101 as shown in the exhibit?

A. ge-0/0/3.0
B. ge-0/0/0.0
C. ge-0/0/2.0
D. ge-0/0/1.0

Answer: D

NEW QUESTION 2
- (Exam Topic 1)
Which command allows you to execute operational mode commands while in configuration mode?

A. activate
B. show
C.run

D. set

Answer: C

NEW QUESTION 3

- (Exam Topic 1)

Which statement is true about a virtual router routing instance?

A. It can be used for Layer 3 VPN implementations.

B. It can be used to create a separate routing table.

C. An interface in the routing instance can also reside in the default routing instance.

D. It automatically has import and export policies applied.

Answer: B
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NEW QUESTION 4
- (Exam Topic 1)
By default, which Junos directory contains the primary syslog file?

A. Ivar/syslog
B. /var/home
C. /var/log
D. /varftmp

Answer: C

NEW QUESTION 5
- (Exam Topic 1)
Click the Exhibit button

A packet destined to the 172.27. 102.65 IP address is received by the ge-0/0/1.0 interface on your Junos device. The input firewall filter shown in the exhibit is
applied to the ge-0/0/1.0 interface.
Which two actions are performed in this scenario? (Choose two.)

A. The packet is logged

B. The packet is accepted
C. The packet is counted
D. The packet is discarded.

Answer: BC

NEW QUESTION 6

- (Exam Topic 1)

Click the Exhibit button.

You want to make the OSPF route shown in the exhibit the active route for the 10.10.10.0/24 IP address. Which action is required to accomplish this task?
A. Set the static route to no-readvertise.
B. Set the OSPF route preference to 4.
C. Set the static route preference to 0
D. Set the OSPF metric to 0

Answer: B

NEW QUESTION 7

- (Exam Topic 1)

Click the Exhibit button.

You have applied the policy shown in the exhibit as an import policy to your BGP group In this scenario, what will happen when the router receives the
192.168.30.48/32 route?

A. It will be sent to the default BGP policy
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B. It wall match term-1 and be accepted.
C. It wall match term-2 and be accepted
D. It will match term-2 and be rejected.

Answer: D
NEW QUESTION 8

- (Exam Topic 1)
Click the Exhibit button.

You must apply the policy shown in the exhibit to readvertise BGP routes to OSPF neighbors Which action will accomplish this task?

A. You must apply the policy as an import policy within the BGP configuration
B. You must apply the policy as an import policy within the OSPF configuration.
C. You must apply the policy as an export policy within the BGP configuration
D. You must apply the policy as an export policy within the OSPF configuration

Answer: D

NEW QUESTION 9

- (Exam Topic 1)

Which statement about the Junos OS forwarding table is correct?

A. The forwarding table consolidates routes from multiple sources.
B. The forwarding table is populated with active routes from the routing table

C. The forwarding table is responsible for identifying and selecting active routes.

D. The forwarding table is only stored on the Routing Engine.

Answer: B

NEW QUESTION 10

- (Exam Topic 1)

Which two statements describe the RE on Junos OS devices? (Choose two.)
A. The RE is considered the control plane.

B. The RE forwards traffic based on its local copy of the forwarding table.

C. The RE provides hardware status messages for the PFE

D. The RE maintains the routing tables.

Answer: AD
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NEW QUESTION 10
- (Exam Topic 1)
Click the Exhibit button

Referring to the exhibit, which two statements are correct? (Choose two.)

A. All other traffic from the Web destined to 172.19.20.50 is accepted.
B. All other traffic from the Web destined to 172.19.20.50 is discarded
C. The HTTP traffic destined to 172.19.20.50 is accepted.

D. The HTTP traffic from source 172.19.20.50 is accepted.

Answer: BC

NEW QUESTION 13
- (Exam Topic 1)
Which default login class should you select if you want the user to edit configuration files?

A. read-only

B. unauthorized
C. super-user
D. operator

Answer: C

NEW QUESTION 14
- (Exam Topic 1)
Which layer of the OSI model does a router use to make forwarding decisions?

A. Layer 3
B. Layer 4
C. Layer 5
D. Layer 2

Answer: A
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NEW QUESTION 16
- (Exam Topic 2)
Which command is used to load the rescue configuration?

A. load merge rescue
B. rollback rescue

C. rollback 0

D. load replace rescue

Answer: B

NEW QUESTION 20

- (Exam Topic 2)

Which command allows you to verify the syntax and consistency of your configuration
without actually activating your configuration?

A. User Interfaces

B. commit verify

C. commit check

D. check commit

E. commit no-activate

Answer: C

NEW QUESTION 25
- (Exam Topic 2)
Which two commands will provide the current configuration of the MX1-PE1 BGP group on your router? (Choose two.)

A. user@router# show groups | display set | match MX1-PE1

B. user@router# show | display set | match MX1-PE1

C. user@router> show configuration | match set | match MX1-PE1
D. user@router> show configuration | dispalv set | match MX1-PE1

Answer: BD

NEW QUESTION 29
- (Exam Topic 2)
Exhibit:

While working on a Junos Device, you receive the message shown. In this scenario, what would you do to stop the shutdown process?

A. Issue the clear system commit command

B. Issue the clear system reboot command

C. Issue the request system halt in command

D. Issue the request system power-off in command

Answer: B

NEW QUESTION 30
- (Exam Topic 2)
Which keystrokes are used to auto-complete user-defined variables?

A. Spacebar
B. Home

C. End

D. Tab CC

Answer: D

NEW QUESTION 32

- (Exam Topic 2)

Which two statements describe IPv4 default behavior for BGP? Choose Two
A. All Active BGP routes are exported to configured EBGP neighbors

B. All BGP routes are exported to configured EBGP neighbors

C. All BGP routes are imported into the inet.O routing table

D. All BGP routes are imported into the inet4.0 routing table

Answer: AC
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NEW QUESTION 36
- (Exam Topic 2)
Exhibit.

You have the policy configuration shown in the exhibit applied to your BGP peering. You find that your customer routes coming from the 10.1.1.0/24 network are

being rejected.
Which command should be used to correct the problem?

A. [edit policy-options policy-statement my-policy] user@router# insert term 1 before term 2
B. [edit policy-options policy-statement my-policy] user@router# insert term 2 before term 1
C. [edit policy-options policy-statement my-policy] user@router# copy term 2 to term 0

D. [edit policy-options policy-statement my-policy]

Answer: B

NEW QUESTION 41
- (Exam Topic 2)
What is the default location of the syslog file on Junos devices?

A. Ivar/log/

B. /vartmp/
C. /lvar/home/
D. /var/db/

Answer: A

NEW QUESTION 44
- (Exam Topic 2)
In which directory the traceoption files stored by default?

A. Ivar/db/

B. /var/tmp/
C. Ivar/log/
D. /var/lhome/

Answer: C
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NEW QUESTION 46
- (Exam Topic 2)

Which two ping command parameters would be used to troubleshoot MTU issues? (Choose two.)

A. ping <destination> do-not-fragment
B. ping <destination> rapid

C. ping <destination> verbose

D. ping <destination> size

Answer: AC

NEW QUESTION 49
- (Exam Topic 2)

You suspect a duplicate MAC address on a subnet. You want to display the MAC, errors, and statistics of the ge-O/0/0 interface.

Which command will accomplish this task?

A. show arp

B. show interface ge-O/0/0 extensive
C. show ethernet-switching table

D. show interface terse

Answer: B

NEW QUESTION 51
- (Exam Topic 2)
The PFE receives which two tables from the RE? (Choose two.)

A. Layer 5 forwarding table
B. Layer 2 forwarding table
C. Layer 3 forwarding table
D. Laver 4 forwardina table

Answer: BC

NEW QUESTION 55
- (Exam Topic 2)
Which two keystrokes will auto-complete a command? (Choose two.)

A. Esc
B. Tab
C. Spacebar
D. End

Answer: BC

NEW QUESTION 57

- (Exam Topic 2)

Referring to the Exhibit,

what does the number inside the square bracket represent?
A. local preference

B. router preference

C. metric

D. protocol reference number

Answer: C

NEW QUESTION 61
- (Exam Topic 2)

Which two firewall filter actions will affect a packet's class-of-service setting? (Choose two.)

A. scheduler

B. queue

C. forwarding-class
D. loss-priority

Answer: CD

NEW QUESTION 65
- (Exam Topic 2)
Click the Exhibit button.

Referring to the exhibit, which command was issued to generate the output?

A. show chassis routing-engine
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B. show chassis hardware
C. show chassis environment
D. show chassis fpc

Answer: B

NEW QUESTION 67
- (Exam Topic 2)
What is the minimum system-defined user class required to issue clear commands?

A. read-only
B. super-user
C. operator
D. authorized

Answer: C

NEW QUESTION 71
- (Exam Topic 2)
What would you use as a network tool to open a secure terminal connection from a device running Junos OS to another device?

A. SSH

B. HTTPS
C.RDP
D. telnet

Answer: A

NEW QUESTION 74
- (Exam Topic 2)
Which command displays the output shown in the exhibit?

A. show chassis temperature-thresholds
B. show chassis environment

C. show chassis hardware

D. show chassis alarms

Answer: A

NEW QUESTION 75
- (Exam Topic 2)
What happens when a route does not match any user-configured policies?

A. The route is rejected.

B. The route is accepted.

C. The route is given a lower priority.

D. The route is sent to the default policy.

Answer: D

NEW QUESTION 77

- (Exam Topic 2)

You are connected to your Junos device using an SSH connection to the txp0 interface. No other interfaces are currently configured and unreachable from your
management network. How would you reestablish communication with the device?

A. Establish a SSH connection to the loopback interface
B. Unplug the network cable and plug it back in

C. Power off and power on the device

D. Connect to the console of the device

Answer: D
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NEW QUESTION 79
- (Exam Topic 2)

You have enabled trace options to log error messages. You want to have the messages displayed to your terminal session automatically as they occur.

Which command should you use in this scenario?

A. request message terminal
B. file show

C. file list

D. monitor start

Answer: D

NEW QUESTION 84
- (Exam Topic 2)
Referring to the exhibit.

which OSPF feature would connect Area 2 to Area 07?

A. route summarization

B. equal-cost multipath

C. virtual link

D. database synchronization

Answer: C

NEW QUESTION 88
- (Exam Topic 2)
What are two default password requirements on devices running Junos OS? (Choose two.)

A. Passwords must be at least six characters in length.

B. An expiration date must be set.

C. Passwords must contain at least one special character.
D. Alphanumeric characters classes must be used.

Answer: AD

NEW QUESTION 89

- (Exam Topic 2)

Click the Exhibit button.

***Exhibit is Missing***

Referring to the exhibit, how many received packets are classified as exception traffic?

A. 20814681
B. 14442602
C. 12417
D. 27824

Answer: B
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NEW QUESTION 90
- (Exam Topic 2)
What does the output of the show route forwarding-table command display?

A. The routing protocol databases in the Routing Engine

B. The inactive entries in the Routing Engine’s routing table
C. The Routing Engine’s forwarding table

D. The Packet Forwarding Engine routing table

Answer: C

NEW QUESTION 95
- (Exam Topic 2)
A BGP route does not match any term within a routing policy applied to BGP. Which action is taken by the router for this route?

A. It discards the route by the implicit ‘discard all’ at the end of the policy.

B. It advertises the route according to BGP rules.

C. It discards the route by the default routing protocols policy.

D. It discards the route because it is unable to match the route to a configured action.

Answer: B

NEW QUESTION 99
- (Exam Topic 2)
Which parameter must be included when executing operational mode commands from within configuration mode?

A. run

B. prompt
C. insert
D. do

Answer: A

NEW QUESTION 103
- (Exam Topic 2)
Which statement is true about the longer router-filter match type?

A. All router within the specified prefix that are longer than or equal to the given prefix are considered a match.

B. All router within the specified prefix that are longer or equal to the given prefix up to a defined acceptable prefix length are considered a match.
C. All router within the specified prefix that are longer than the given prefix up to a defined acceptable prefix length are considered a match.

D. All router within the specified prefix that are longer than given prefix are considered a match.

Answer: A

NEW QUESTION 108
- (Exam Topic 2)
Referring to the exhibit,

which dynamic routing protocol would be used for this topology?

A. IGMPv3
B. OSPFv2
C. RIPng
D. RIP

Answer: C

NEW QUESTION 113

- (Exam Topic 2)

How would you change the display so that 40 lines will be displayed in the terminal program when you are logged into a junos device?
A. Set the window size of your terminal program

B. Issue that set cli screen-length 40 command from operational mode

C. Set the display options in your terminal program

D. Issue that set cli screen-length 40 command from Configuration mode

Answer: B

NEW QUESTION 115

- (Exam Topic 2)

What does the number inside the square bracket represent?
A. Metric

B. Local preference
C. Protocol reference number
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D. Route preference
Answer: D

Explanation:

https://www.juniper.net/documentation/us/en/software/junos/bgp/topics/ref/lcommand/show-route.html#show-ro Module 9 of Juniper Open Learning, Routing
Fundamentals describes the [Source/Route Preference]. The metric is 'how' a protocol calculates the best path to a destination. RIP = Hops, OSPF = Cost. Metrics
are unigue to protocols.

user@host> show route

inet.0: 11 destinations, 12 routes (11 active, 0 holddown, O hidden)

+ = Active Route, - = Last Active, * = Both 1:65500:1:10.0.0.20/240

*IMVPN/70] 19:53:41, metric2 1

Indirect

1:65500:1:10.0.0.40/240

*BGP/170] 19:53:29, localpref 100, from 10.0.0.30 AS path: |

> t0 10.0.24.4 via 1t-0/3/0.24, label-switched-path toD [BGP/170] 19:53:26, localpref 100, from 10.0.0.33 AS path: |

> t0 10.0.24.4 via It-0/3/0.24, label-switched-path toD inside square brackets -> route preference

metric and localpref are optional and after the date

NEW QUESTION 118
- (Exam Topic 2)
Which two conditions must exist in a Junos device for traffic to transit the device to a specific destination? Choose Two

A. A forwarding table entry for that destination must exist

B. A routing policy must be in place on the device

C. A firewall filter must exist to allow traffic to reach that destination
D. A routing table entry for that destination must exist

Answer: AD

NEW QUESTION 123
- (Exam Topic 2)

Referring to the exhibit, what is the expected behavior for login attempts from users that receive a reject form from both the RADIUS and TACACS+ servers?

A. Users are prompted for a local authentication password.

B. Users are not prompted for a local authentication password.

C. Users are prompted for the root authentication password.

D. Users are granted limited access to the device using a guest account.

Answer: B

Explanation:
Local Auth is not included in the authentication-order. It will only consult the local auth if it doesn't recieved any reply from the RADIUS and TACAS from a certain
time. In this case the RADIUS and TACAS rejects the Authentication therefore no need to consult the local auth.

NEW QUESTION 127
- (Exam Topic 2)
Referring to the exhibit, which statement is true?

A. The customer has set the version parameter to automatic.
B. The customer has not enabled security for BFD.

C. The customer's link will failover in nine seconds.

D. The customer's link flappedd within the last hour.
Answer: D

NEW QUESTION 130

- (Exam Topic 2)

Click the Exhibit button.

Referring to the exhibit, what happens to a packet that has a destination address of 172.17.0.1?

A. The packet is forwarded to the next hop defined in the default route.
B. The packet is silently discarded.
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C. The packet is rejected and an ICMP network unreachable message is sent to the source address.

D. The packet is forwarded to the next hop of the management network.

Answer: C

NEW QUESTION 133
- (Exam Topic 2)
What information would you find using the CLI help function? (Choose two.)

A. tip of the day

B. Junos technical publications

C. explanation of specific system log error messages
D. explanation of traceoption events

Answer: AC

NEW QUESTION 137
- (Exam Topic 2)
Which key could you use to auto-complete a command in the Junos CLI?

A. Delete

B. Ctrl+Z

C. Spacebar
D. Right Arrow

Answer: C

NEW QUESTION 138
- (Exam Topic 2)
In which directory are trace option files stored by default?

A. Ivar/tmp/
B. /var/log/
C. /lvarlhome/
D. /var/db/

Answer: B

NEW QUESTION 143
- (Exam Topic 2)
Which two types of traffic are processed by the Routing Engine (RE)?

A. IP packet with the IP Options field

B. time-to-live (TTL) expired messages

C. ICMP destination unreachable messages
D. OSPF update messages

Answer: BC

NEW QUESTION 146
- (Exam Topic 2)
Which statement is true about PFESs?

A. A PFE receives microcode updates from the RE.

B. A PFE receives layer 4 forwarding tables updates from the RE.
C. A PFE receives hardware status messages from the RE

D. A PFE receives environmental status messages from RE.

Answer: B

NEW QUESTION 147
- (Exam Topic 2)
Which command causes the Junos OS to temporarily activate a configuration?

A. commit and-quite
B. commit synchronize
C. commit check

D. commit confirmed

Answer: D

NEW QUESTION 148
- (Exam Topic 2)
Which two interfaces are considered logical interfaces? (Choose two.)
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A. xe-1/1/1
B. ge-2/0/2.0
C. et-5/0/0
D. ael.l

Answer: CD

NEW QUESTION 153
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